Calcular Porcientos (B)

Calcule el porciento o valor que se pide.

. (Qué porciento de $1,300 es
$598?

. ;(Qué porciento de $6,550 es
$3,406?

. .Qué porciento de $6,975 es
$3,627?

. ;Qué porciento de $2,850 es
$1,881?

- ;Qué porciento de $9,085 es
$7,268?

2. ;Qué porciento de $9,605 es
$3,842?

4. ;Qué porciento de $4,100 es
$697?

6. ;Qué porciento de $968 es $726?

8. ¢(Qué porciento de $7,490 es
$5,243?

10. ;Qué porciento de $2,100 es
$714?
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Calcular Porcientos (B) Respuestas

Calcule el porciento o valor que se pide.

. (Qué porciento de $1,300 es
$598?
46%

. ;(Qué porciento de $6,550 es
$3,406?
52%

. .Qué porciento de $6,975 es
$3,627?
52%

. ;Qué porciento de $2,850 es
$1,881?
66%

. (Qué porciento de $9,085 es
$7,268?
80%

2. ;Qué porciento de $9,605 es
$3,842?
40%

4. ;Qué porciento de $4,100 es
$697?
17%

6. ;Qué porciento de $968 es $726?

75%

8. ¢(Qué porciento de $7,490 es
$5,243?
70%

10. ;Qué porciento de $2,100 es
$714?
34%
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